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Preface

Congratulations on your purchase of the V10 financial calculator
from Victor Technology. Victor has been serving customers
since 1918. Today, Victor offers a complete line of printing,
handheld, desktop, scientific, and financial calculators. For
more information please See our website at www.victortech.com
or call us at 1-800-628-2420.

Victor: The Choice of Professionals

Copyright © 2008 by Victor Technology LLC
Allights reserved.

V10 Financial Calculator Limited Warranty

Thank you for purchasing a product from Victor Technology.

This product has been electronicaly tested. If you have problems using this product, please
carefully refer to the instruction manual.

This product, except the battery, is warranted by Victor to the original purchaser to be free from
defects in material and workmanship under normal use for a period of two years from the date of
purchase. During the warranty period, and upon proof of purchase, the product will be repaired or
replaced (with the same or a similar model) at Victor's option, at a Victor Authorized Service
Center, without any charge for either parts or labor.

This warranty will not apply if the product has been misused, abused, or altered. Without imiting
the foregoing, battery leakage, bending of the unit, a broken display, a cracked housing, and
cracks in the LCD display will be presumed to have resulted from misuse or abuse.

To obtain warranty service you must take or send the product, postage paid, with a copy of your
sales receipt or other proof of purchase and the date of purchase, to a victor Authorized Service
Center. Due to the possibility of damage or loss, itis recommended when sending product that
you package the product securely and send itinsured, return receipt requested.

NEITHER THIS WARRANTY NOR ANY OTHER WARRANTY, EXPRESS OR IMPLIED,
INCLUDING ANY IMPLIED WARRANTY OF MERCHANTABILITY OR OF FITNESS FORA
PARTICULAR PURPOSE, SHALL EXTEND BEYOND THE WARRANTY PERIOD. NO
RESPONSIBILITY IS ASSUMED FOR ANY INCIDENTAL OR CONSEQUENTIAL DAMAGES,
INCLUDING WITHOUT LIMITATION DAMAGES RESULTING FROM MATHEMATICAL
INACCURACY OF THE PRODUCT OR LOSS OF STORED DATA.  SOME STATES DO NOT
ALLOW LIMITATIONS ON HOW LONG AN IMPLIED WARRANTY LASTS AND SOME STATES
DO NOTALLOW THE EXCLUSION OR LIMITATION OF INCIDENTAL OR CONSEQUENTIAL
DAMAGES, SO THE ABOVE LIMITATIONS OR EXCLUSIONS MAY NOT APPLY TO YOU. This
warranty gives you specific rights and you may also have other rights which vary from state to
state.

If your product needs repalr, please call 1-800-628-2420 or visit us at www.victortech.com. If for
any reason this product is to be retured to the store where purchased, it must be packed in the
ariginal package. Thank you.

Victor Technology LLC
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- Interest Conversion worksheet
- Date worksheet
- Profit Margin worksheet
- Breakeven worksheet
- Memory worksheet
* 3.0 volt operation

* Both manual OFF and 5 or 6 -minutes
anto-OFF are available to save power

consumption.
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SPECIFICATION FOR THE
FINANCIAL CALCULATOR

. General Description

* Two modes of calculator, ie., Standard
Calculator mode and Prompied Worksheet mode
* In standard caleulator mode, the following
functions can be implemented.
-4 basic rule arithmetic operation
- Parentheses calculation
- Trigemometric functions ( sin, cos, tan, !in",
cos”,tan™ )
- Hyperbolic functions and Inverse hyperbolic
functionsisinh, cosh, tanh, sink™ cosh™, tank™)
- Natural logarithm and Exponential function
{In¢ &)
- Square root, Square, Reciprocal funciions
6, o, 1x)
- Power function and Inverse power function
=¥
- Permutation, Combination and Factorial
{aPr,nCr, x!)
- Constant calculation
- Two angle units, ie Degand Rad
- Time value of money (TWM) caleulation
* In Prompted Worksheet moste, there are 11
worksheets ready for selection.
- Amortization workshest
- {ash Flow worksheet
- Bond worksheet
- Depreciation worksheet
- Statistics worksheet
- Percent change/Compound Interest worksheet

IV Operation Description
a.Power Up Resst :-

Upaon power wp reset, standard calculator mode
is defaulted. And the settings (including general
memories, parameters of different worksheets
and global settings ) are as follows -

Global setting -

Decimal places =2

Amngle unit = DEG (degree)

Dratee foormat =US (MM-DD-YY)

Separator format - LS,
Caleulation method - Chain (Chn)
Constant Memories @~
MO to M9 15 preset as 0,
Variable inputs in different worksheets :-
TVM & Amortization -P7Y, C7Y =12
N, I'Y P V. PMT,FV=0
End-of-period payment
iz defanlted P1, F2=1
BAL, PRN, INT =0
Cash Flow worksheet -CF0 =10
G0l -C24 =0
FOl1-F24 =0
L. NPV . IRE =0
=8DT,RDT:-12-31-1090
(U5 format) BV = 100
Day-count method:- ACT
Coupon frequency - 27Y
CPN, PRI & YLD =0
Depreciation worksheet:-LIF, MO1, YR = 1
CST, SAL = 0
5L method is defaulied.
DB% = 200

Bond worksheet



Percent change worksheet - OLD, NEW, %CH=0

Phi=1
Interest conversion WNOM, EFF =0
wnrkshemet =0 =12
Date worksheet -DT1,DT2 :-12-31-1990
DBD =0

Dray count method - ACT
Profit margim worksheet - CST, SEL, MAR =0
Breakeven worksheet -FC,VC,P,PFT.Q=0

b.Warm Resat of the Calculator
Press [2od][Reset], the display will show
ENTER

RST'

To reset the caleulator, press[ENTER Jto confinm.
“RET™ and “0.00" will be displayed.

RST 0.00

Note:- Resetting erases all previously stored
values and restores all defanl: settings.
If one dossn't want to reset the calculator,
he/she can press | 2nd || (LT to cancel the
"RESET’ command. “0." will be displayed
mstead.

0.

In gither cases the caleulator will be switched
back to Standard Caleulator mode,

EMTER T4

DEC= 2.00

The default decimal place number is *2".

1f one wants to change 1t to 3 decimal places,

he / she can press |3] followed by [ENTER [to set
the decimal places to 3.

[Bl[ENTER]

BENTER T

DEC= 3.000

Remarks :-
Motation for other decimal place number
selection is as below :=

0, n decimal places
1.0 — one decimal place
2.00 — twir decimal places
3.000 - three decimal places
40000 - four decimal places
500000 —_— five decimal places
6, 000000 six decimal places
T.0000000 — seven decimal places
E.00000000 — eight decimal places
9000000000 —- nine decimal places

It should be noted that only displayved resulis are
rounded to the specificd number of decimal
places, but stored results are normally net
rounded. The results are stored in memory as &

| 2-digit mantissa and 2-digit exponent no matter
how many decimal places being specified,

To proceed to other global settings, the wser can
press [ 1] or [L].

Angle Unit Selscti

In the Angle Unit selection page, the current
angle unit will be d.i.l'..pl?aycd. For

c. ONFOFF of the Calculator
When the caleulator is ON, press [ON/OFF] to
turn off the caleulstor. And the following
operations will be executed -
* Clear the display
*Cancel any unfinished calculation
* Clear amy error condition
But the memories b w0 M9, all workshest values
and settings, and all format settings will be
retained,
When the calculator 1s OFF, pressing [ON/OFF)
citn turn on the caleulator, IT the calculator has
been tumed OFF manually, the caloulstor will
return to operation in the standard caleulator
mode. A value of zero is displayed and the values
in all of the worksheets are kept unchanged,

ONOFF] to turn on the umit and the calealator
will restore all the states as it 15 before power
divorn,

If there 15 an error before power is shut off, one
has to press [CEAC] to clear it before he/she can
comtinue with the calculation,

d.Global Data Setting -
Pressing [2nd][Formar] can access all the global
scttings available. The followings are imvolved in
the setting :-
* Decimal format
* Angle unil { degree / radian )
* Date format
* Separator format
* Caleulation method
Decimal Format Setting
The first itemn shown at the entry of format setting
is the selection for decimal places.

[

example, let the current angle unit be Degree,
BET T

DEG

To switch to Radian, the user should press [2nd)
[SET].

SET T4

RAD

Consecutive pressing of [2nd][SET] toggle angle
unit between degree and radian.

Date Format Selection

Twao date formats are available. One is US format
(MM - DD - YY) and the

other is European format (DD - MM - YY), At
entering the Date Format page, the current date
formmat will be displayed. Say, current date format
is US type,

=T T

us 12-31-1990

One can press [2nd|[SET] to switch to European
date formal.

ser T

EUR 31-12-1990
Pressing [2nd ][ SET] consecutively can toggle the
date format alternately.

Separator Format Selection




Both US. format and European format are
available. Pressing [2nd])[SET] consecutively can

gwitch from onc format to another and back again.

LS. formal :
sET Tl
Us L0000
European format :
SET T+
EUR 1.Oo0D00

Calculation Method Format

The user can select either the chain calculation
method of the algebrsic operating

system (AOS). When the calculation method is
sct 1o Chain, the caleulator solves problems in
the order that you cnter them. When the
calculation method is set to AOQS, the caloulator

Chn
Press [2nd][SET] to switch to ADS and press
again to swilch back.
gET T
ADS

If the user wants to restore all the settings above
to default setting, he/she can simply press [2nd)
[CLA WORK ] during the display of format
setting. Or he'she can press [2nd])[UFT] to exit
from Format setting and refumns to Standard

Caleulator mod

eStendard Calculator Operation -

e=1. The followmng functions are available n
Standard Calculztor mode.

solves ]Jm]:llm.m according to the standard rules Functions | Examples of key combinations
of algehraic hierarchy as below - Addition A+ b
Prionty Oiperations Subtraction af-]b
; &, &, Ux, %, LN, &, HIF, Multiplication | & [x] b
o T P o Division | a[+]b
bl s el Universal Power a [ h
: f” = Parcntheses | a[=][(]b+c [}]
4 H, +
j +:| =
ﬁ‘- £l :I
Lownest =
Ax entering the Caleulation Methed Selection
page, the current calculation method will be
displaved, say, Chain method is under way.,
L] (L]
Functions Examples of key combination
i les of ke
Functions i b Constant__|[operator][2nd][K] 2, or,
Tt 2 <1b [%] calculation  |[operator][2nd][K] a [%]
- (Mote: the operator can be +, -,
Percent ratio al+] b %) ¥, +, 0F ¥" To cxecute
Percent add-on & [+] b %] constant caleulation, the
Pereenl diseount a[-] b [*] operator and the number
Square alx'] “a* will be stored. )
Square Root al/] Last Answer | [2nd][ANS]
Reciprocal a [1/%] funetion {recall the last answer and one
Factorial a [2nd][x!] can reuse the last answer for
Matural loganthm a [LM] further calculation )
Narural antilogarithm |a [2nd][e] &-2.Input Ranges of Scientific Functions :-
Found 1o the set decimal|a [+] b [2od] [Rowwd] Fonchh
on Input range
Random number __ |[2nd]{Rand] Abs (x) = 90000000007
Combinations a [2nd][,Cr) b Sim X, CO% X a0 X 2
~ (S0000000 radians)
Permutations a [2nd)[.P] b - ;
Sine a [20d)(SIV] S x.oo x| Aba (<1
Cosine a |Znd]|COS] tan’x Aha ()< 10"™
Tangent a [20d)[TAN] e -10'™ < ¢ «230.2585002
Are g a [INV][SIN] sinh x.coshx | x = 2302585082
T
At rosine a [NV ][ COS] tanh x Abs () < 10"
ATc tangent a [INV][T4N] sinh! x Abs (x) < 5 x 107
Hyperbaolic sine a [Zod][Hypl[5IV] u;mh‘l‘x 1< x < Sx10%
Hyperboliz cosime|a [20d)[Hyp][COS] tanh’'x Abs ':1_39*‘ ! -
Hyperbolic tangent|a [2nd)[Hyp)[TAN] In x %2l il
Hyperbolic arcsine _|a [2nd)[Hyz)[TNV][SIN] Jfx 02310
Hyperbolic arccosine |a [20d)[ ) [INV]ICOS) ﬁx ii E’i ; :u““ -
. x B
Hyperbolic arctanpgent | a [2nd)[Hvp [ INV][ TAN] = D <3< (Embegr)
x5 0:--1x 10 plogr =100,
< x=0-y=0

r<Q=-vy=naor 1/2n+ 1}
where n = integer

12



i.Worksheet Operations :-
Worksheet variables are classified as four types,
i.e., Enter-only, Compute-only, Autornatic-
Compute, Enter or Compute.
Enter-Only variables can be entered directly from
the keypad, or the result of a math calculation,
or constant memory content. When Enter-only
variables are accessed, "ENTER' indicator will
be ON to remind the wser a value should be
keyed in. After the value has been input, press
[ENTER] to assign the value to the variable. The
‘=" will be displayed between the label and the
value.

For Compute-Only variables, no value can be
assigned to it. One should press [CPT)] during the
display of the variable to start the calculation. As
the answer is obtained, an *=" sign will be
displayed between the label and the value, along
with the symbal *=*,

A ic-C il

For automatic-compute variables, [CPT] key
needn’t be pressed, A value will be computed
automatically as the varisble is accessed by
pressing [*] or [+]. After the value is automatically
computed, an *=" sign is displayed between the
label and the value, along with the symbal “+°,
Enter or Compute variables ;-

When an Enier-or-Compute variable is accessed,
both the indicators *COMPUTE' and ‘ENTER'
will be ON. Either a value can be assigned 1o the
variable by keying in the value and pressing
[ENTER], orthe [CPT] key can be pressed 1o
compute the value. After [ENTER] or [CPT]

13

has been pressed, an =" sign will be displa
bcmwﬂwhbelmﬁthcvﬁlm. i
Below is description for different worksheets.
Two decimal places are specified for the
following calculation examples.

f-1.TVM Worksheet :-

The followings are key / key sequence involved
in TVM worksheet calculation to access the

Enter the value followed by the desired variable
key. The value will then be assigned to the
variahle.

g Set PV to 120,000,00  [121[0][0][0][01(FV]
If one wants to reset all the TVM variables,
hefshe can press [2nd][CLR TFM] to reset W, 1Y,
PV, PMT and FV to zero. To restore PYY and
C/Y 1o 12, press keys in sequence as [2nd][F/T]
[2ad][CLR WORK].To switch back to end-of-
period payment, ane can press [2nd][BGN][2nd]
[CLR WORK].

w VAT -

Press [CPT] followed by the desired variable.

To compute PV:- [CPT][PV]
To compute FV:- [CPT][F¥]
To compute N :- [CPTI[N]
To compute PMT:- [CPT)[FMT]
To compute 7Y :- [CPT][IFY]

Using the TVM worksheet to determine the
monthly payment on & 30-year mortgage with a
loan amount of $120,000.00 and an annwal
percentage rate of 9.125%.

Assume that beginning of peried payment is
selected currently.

Clear the TVM variables by keying [2nd]
[CLR TVM]

0.00

Recall P/Y data by pressing [2nd][F/Y]
ENTER Tl

P/Y = 12.00
If the payment per year is different from 12.

Enter the value and press [ENTER]. If
end-of-period pavment is selected, press [2nd]
[BGN].

SET B
BGN
Press [2nd][SET] to switch to end-of-period.
END

1L

Press [20d][QUIT] to exit from ‘BGN/END’
sciting display,

0.00

Enter loan amount.
(207 (0o PY]

PV = 1 20000.00
Enter interest rate.

[9)[=]0120050 /Y]

Y= 9.13

Enter number of payments.
[31[M[2nd]i=F/¥][N]

N = 360.00

Finally, comparte the payment by pressing [CPT)
[PMT].




1i=eet i
where PMT =0
¥ =0+ PY
x={ 00 = /Y ) + Y
CY = compounding periods per vear
P/Y = payment periods per year
I'Y = interest rate per vear
i={-FV+pP™Y g where PMT =0
If only PV, PMT, FV, and N are known, use
the following formula to find i :-
0=PFV+PMT =G, x(1- (1 + 1 7¥Wi= FVe (14 0™
whese (G = | =1 for beginning-of-period payments
Gy = | for end-of-period payments
0¥ =100 = CFF = (&M 1y
where x= i
¥»=MY+OY
AN =In ([ PMT =G, -FVx i)/ (PMT =G, +
P £ ) In 1+ )
where i =10
MN=-{PV+FV)+PMT
where i =10
4.PMT =i Gy { PV +{ PV + FV )/
((1+i-1)) wherei=0
PMT=-(PV+FV}+N where i=0
5PV = (PMTx G/ { —FVIAL + ) - PMT= G,/
where i =0
PV =-[F¥+PMT =N} where i=10
6.FV = (PMTxGyi)-(1 + i P x(PV+PMTx Gy i)
where i# 0

FV=-{PV+PMT =N} where i = 0

{-2. Amortization Worksheet :-
Amortization worksheet is a prompted
worksheel The user can open the worksheet by
pressing [2nd])[Amor]. Then press [4] or [T]
consecutively to access all the other variables,

LA Lebel B i Type of variabds
[Zead | [ Amunrt] Pl Sieciing peymen ERter nrdy
- Pl Eading peyment Esber onky
=] BAL  Balmmos Amte-compuie
4 FRN  Prcipal paid Aio-campuls
= INT  Inierest paid Ato-Campuie

Since there are only nine payment periods in the
first year, P2 should be set to*9",

[Y[ENTER]
TR T4
P2= 9,00
View first year amortization data by pressing [4].
[
t g
BAL= 119,407.4
[+]
T
PRN = - 592.5;
[+]
T4
INT = -8,1 M.TEI

Mote ;- The balance, principal and the interest
are calculated basimg on the data obtained

in the working example for TVM
calculation. Press [4] again, the unit will
redurn o the first page of the workshee.
P1 will be displaved sgaimn.

ENTHR T4

Pl = 1.00

To ealeulate the amorization data forthe second
wear, Pl and P2 should be changed to 10 and 21
19

Working example :-

Use the Amortization worksheet to generate an
amortization schedule for the first three years of
the loan, Assuming that the first payment is in
April in the first year, there are nine payment
periods. After that, there are 12 payment periods
per year

Let end-of-period payment be selected in TVM
worksheet and the old content of P1is 5.

Press [2od][Amor] o select the Amortization
waorksheet. Pl will be shown first.

e Tl

Pl= 5.00

Ome can clear the workshest by pressing [2nd]
[CLR WERK]. Both P1 and P2 will be setto 1.

ENTER T4

Pl = 1.00
Press [4] to step forward and access next variable
|

EMTER Tl
P2= 1.00
I8
respectively.
[1[0)[ENTER]
ENTER 14
Pl= 10.00
[4]
ENTER T-
P2= 21.00
[4]
T
*
BAL= 118,551.85
[+
-1 .
PRMN = - B55.61
4]
) )
INT= - 10,860.71

Caleulate the amortization data for the third vear,
press [4] w go back 1o the beginning of the
amortization worksheet.

ENTER Tl

Pl= 10.00

Hince there are also 12 payment periods in the

third year, the user can simply press [CPT)

during the display of P1 and the caleulator wall
0




update Pl and P2 automartically to the next 12
periods. That is P1 will become 22 and P3 will

be vpdated to 33,
[CPT]
ENTER T4
Pl= 22.00
[+]
ENTER TE
F2= 33.00
[+]
i L]
BAL = 117,614 86
[+]
™
PEN = - 936.99
[+]
" &
INT = -10,779.33

Mote ;- the principal and the inferest are
displayed as negative becausc they are

BBy ssjumey Latwl Flwaning Type ol varmabie

[CF] CFe laical ol Now Exder-only

I=1 Cm* Amoum of nthcesh| — Emter-only
Miow

|=] Fon* Frequency of mth Emter-only
cash flow

[MHPFY] ] Thsgsnanl Fale Enter-only

[<] MNEY  Met peesent valus Compuiz-anty

[1RR] IRR  Intemsl rete of reurn Compule-only

*nn represents the number of the cash flow
(C0L-C24) or the number of the corresponding,
frequency (FOL - F24).

How to enter cash flow data :-

Press [CF) to enter cash flow values and

frequencies. One can enter the initial cash flow

(CFp) plus up to 24 cash fows, each of which

can b a unique value, Enter inflows

(cash received)as positive and outflows (cash

paid oul) as negative, To enter multiple

consecutive cash flows of the same value, one
can enter the value for Frn (frequency} after the
entry of the valee for Cnn, The valuee of Frn must
be an integer not exceeding 9999 11 there are no
value to be entered for Fnn after the input for

Cnn, the corresponding Fon will be assigned as 1.

The “INS" and ‘DEL" indicators in the display

let the wser know that the [2nd] [IVS] and [2nd]

[2EL] key sequences are available for him to

edit the cash Mow data, When a cash fow data 15

deleted, all the cash flow data followed will be

advanced one step forward and vice versa for the
function of ‘cash (ow data nserd’.

Working example -

paid out.

f-3.Cash Flow Worksheet :-
In cash flow worksheet, the user can calculate
WPV [net present \'aluz.cP and [RR {internal rate

A company plans to pay 57000 for a now machine.
The company would like a 20% annual return on
its investment.Over the next six years, the
company expects to receive the annual cash

flows shown below, o

Year Cash Flow Estimate
1 3000

2-5 5000 / year

4] 1]

To input the above data into the CF worksheet,
the following kev sequence 1s performed.
|CF]

ENTER T4

CFo= 1,000.00

{where 1000 is the old value for CFo )

To clear CF worksheet, one can press [2nd]
[CLR WORK] o reset the values of CFo to
CF24 and FO1 1o F24,

[2n0d][CLR WORK]

EnTER T1

CFo = 0.00
Then enter the data to the worksheet as below,
[TIOT0][0][£] [ENTER]

emTER. T
CFo = -7,000.00
[+
ENTER T it
ol 0.00

[A]O][0][0][ENTER]

iwTer Tl DEL NS
|

3,000.00

col =

]

[+]
ENTER  Th DELINS
-1
Fo1 = 1.00
[+]

ENTER *1 DEL NS

<]
co2 0.00
[SI[OJ0J{0][ENTER]

ewTer Tl DELINS

=]
coz= 5,000.00
[+]
EMTER T4 DEL NS
=]
Fi2= 1.00

Since the sume cash flows are estimated for the
second to the fifth year, the value *4" can be
assigned to FO2 for simplicity,

[4[ENTER]

ENTER  To DELTNS

Fo2 = 4.00

Proceed to cash flow number CF3 by pressing
[4].

ENTER T4 DEL INS
]

03 0.00
Esiter the value 4000,




[4][0][U][0][ENTER]

ENTER T DEL NS

Ll
03 = 4,000.00

4

ENTER T+ DELINE
-
FO3 = 1.00

Just leave FO3 as one in this example, Now all
the data have been inpul. If at this moment, it is
found that the 24000 cash flow value should
oceur in the second vear instead of the sixth
year. The data can be edited as follows.

Press [1] conseeutively wntil C03 is displayed.

ENTHR T4 DEL S

Pl
c03 = 4,000.00
Press [2nd][DEL] to reset C03 and FO3 data to

ZEro.

ENTER 1o DELING
-

C03 = 0.00

Then move to the sceond cash flow.
(1101

ENTER Tl DELINS

-]
oz = 5,000.00

Insert the new second cash flow,
[Znd][NF]

ENTER Tl DELINS
-
coz= (.00

&

[2][0][ENTER]

ENTER 1l

I = 2000
Press [ 4] to access the data NPV,
COMPUTE T4

NPV = 0.00

Press [CPT] to get the answer,
COMPUTE T

NPV = T,Zﬁﬁ.d-;

To calculate the internal rate of return (TRE).
Press [IRR]

COMPLTE
IRR = (.00
Followed by the key [CPT) to obtain the answer.
COMPUTE
&
IRR = 52.71

N
NPV = CFa+ ECF:, 1+

Jml
where i=1% + 100
Met present value is dependent on the values of
the initial cash flow, subsequent cash Dows amd
the specified interest rate.
IRR = i such that NPV =0
Internal rate of return is dependent on the values
of the initial cash flow and sub-sequent cash
flowes,

7

Key in the armount 4000,
[4][0][0][0][ENTER]

EMTER T4 DEL NS

]
o2 = 4,000.00

[+]

ENTER Tl DEL NS
=
Fo2= 1.00
Fimally, move to next cash flow to verify data.
The original C02 and FOZ data should now be

shifted down ta OD3 and FO3,
[4]
UNTER T DEL NS
-
03 = 3,000.00

[+

ENTER. T} DEL NS

=]
FO3 = 4,00
To compute the net present value using an
interest rate per period I of 20%, one can press
[WPV] to start the calculation. The label *17 will
be displayed. And the user is prompled o enter
the interest rate per period.

[WPY]

ENTER Ta
I =
Enter the interest rate as 20%%.

15

-4 Bond Worksheet -
To open the Bond worksheet, press [2nd ]| Bond].
The following variables can be accessed.

Label Mesnlng Type of veriahle

S0T Setlemeni dats Enlec-valy
Anmual rate |

CFM lm o Enter-nnly

ROT Redemption dote Enter-only
Redemption valee

£ {percentage of par valuc] FIF-00ly
Actasl!seual diy-cous :

AT mieshod i

340 (107360 day-count method] Setting

Y Tw0 coupans pr yeir | Sulling

1Y O coupaon per yelr | Selling

VIO ¥ieH o redemgition Enter | Comgute

PRI Dwllar prce Entes | Compute

Al Accrued mlerest Auto-compute

At entering the Bond worksheet, pressing [2nd]

[CLR WORK] sets BV to 100 and CPN, YLD and

PRI to zero. But SDT, RDT, day-count method

and coupon frequency are ot affected and will

be kept at the current setting.IT you have not

entered the necessary values, an error occurs when

you press| T Jor[4]to move through the worksheet.

Worki X e

Suppose you want to purchase a semiannuaal

corporate bond that matures on 123 1/91 10 seitle

on &'12/90. The bond is based on the 30/360

day-count method with a coupon rate of 7%,

It will be redeemed at 100% of its par value,

For an 8% vield to maturity, compute the bond s

price and the accrued mterest.

Mgsuming that:- 50T is currently set at 12431/90
1.5 date format is selected,
Day-count method is set al ACT.
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Select the Bond worksheet first by pressing
[2nd][Bond]

ENTER T4

SDT=12-3] - 1990
Enter the settlement date as 6712090,
L6 =112 ][O [ENTER]

ENTER T4

SOT= 6-12-1990

Press [1] to access next values. Now it comes
o show annual coupon rate.

ENTER T4

CPN =
Set it to 7%. Press [7][ENTER].

.00

ENTER T4
CPN= 7.00

Press [4] to display redemption date ROT.
NTiR T4

RDT =12 - 31 - 1980
ion date is set at 12/31/91. Hence, key
in [1][2][=](3](11[S1[1][ENTER].

ENTER T4

RDT= 12-31-1991

m

Press [CPT) to calculate the dollar price.

COMPUTE ENTER T4
FRI = 98.56

Press [+] to view the accreed interest.
T

E ]
3.15
Let PRI = dollar price per 5100 par value
BY = redemption value of the security per

S104 par value

R = annual interest rate (CPN-=100)

M = number of coupon periods per year

DSR= number of days from scttlement date to
redemption date {maturity date, call date
or put date, efc.)

E = number of days in coupon period in which
the senlement date falls

Y = anmual vield on investment with security
held 1o redemption (YT.I + 100}

A = number of days from beginning of
coupon period to settlement date
{accrucd days)

N = pumber of coupons payable between
settlement date and redemption date
{1f this number contains a fraction, raise
it to the next whole number, e.g., set N
to 3if it is found as 2.4)

DSC= mumber of days from settlement date
to next coupon date

K = summation counter

. Dollar price with one coupon period or less (o

redemption ;-

E]

Press [4] to proceed to redemption value setting.

ENTER Tl
RV = 100,00
Leave it at 100 and press [+] again,
SET T
ACT

Press [2nd][SET] to switch to 300360 day-count
method.

seT Tl

360
(Go an pressing [4].

sET

Y
Meedn't to change coupon froquency. Just press
[4] again.

COMPUTE ENTER T

YLD =
Key in [8][ENTER].

0.00

COMPUTE ENTER T4
YLD = 8.00
Finally, press [+] to come to the display of PRI
COMPUTE INTER T+

PRI = 0.00

0

PRI= (RY=100%R/M )1+ DSRE=Y/M))
= AEx 100:x=R/M)

Motz ;- The first term calculated the present value
of the redemplion amount, including
interest, based on the yield for the
invested period. The second term
calculates the sccrued interest agreed to
be paid 1o the seller.

2. ¥ield with one co jod or less to
redemption :- it

YLD = {{RV/ 100+ RM) - { FRLIT00+ (ATE=RM))
J(FRIIO0 + [AE = M) = (M = E/DSR)

3. Dollar price with more than one coupon
period to redemption :- "
PRI=- RV /({1 +‘|"."M}""'ME+Z

K=l
(100N /(14 Y NyH TSy
=100 = M = AE

Mate:- The first term calculates the present

velue of the redemption amount, not including

interest, The second term calculates the present
values for all future coupon payments. The third
term calculates the accrued interest agreed to

be paid to the seller.

4. ¥ield with more than one coupon period to
redemption :-

Y¥LI is found through an iterative scarch process

using the formula 3 shown ahove,

5, Accrued imterest for securities with standard

COUpOnS Of interest at maturity -

Al = PAR = /M = AE

where PAR=par value i.e, principal amount

to be paid at maturity

f=5.Depreciation worksheet --
To access the Depr:ci.ai.gm waorksheet, press



[Z2nd][Depr], Then choose & depreciation method,
enter the known valees and compuie the
unknown values, To choose a depreciation
methed, press [2nd][SET] repeatedly at entering
the worksheet until the desired method is
displayed, To view the variables, press [T]or[+].

Below show all the seftings and variahles to be

accessed in Depreciation worksheet.
Lahel Meaning Type of vanahles
5L Stralght line method Setting
YD Sumraf-the-wears -digits .
metbad Setting
]2 Decliming-balarce method Sering / Ender
DBX T3B method with 4
I.'I.'D-FIE'I'ET |.D‘§.IL m" m
LIF Lifi of the asset in years | Enter-only
Mote:- For SL methed,
LIF must he n
positive real
nurber. For ather
three methods, LIF
must be & positive
integer
K01 Slartmg manth
CET Coet of the assgl Enter-unly
SAL Salvage value of the ssset| Emter-only
YR s b compube (must b Enter-only
a positive infeger )
DEP Tegreciation for the year| Autp-compeie
ROy Remaiming hook value ot | Auto-compeie
the end of the year
RIW Remaining depreciable | Auto-compaie
value

Iei ] -May, & commpany beging o depreciale

a machine with a seven-vear life and no salvage
value. The machine cost is $100,000.

DBX method is to be wsed to compute the
depreciation expense, remaining book valie,and
remaining depreciable value for the first two
vears, The declining balance percent is 200,

Press [2nd][Depr] to access the Depreciation
worksheet.

ZET T4

SL

CUme can press [2nd][CLRE WORK) to set LIF,
MO1 and YR 1o 1, and reset CST and SAL to zero.
Press [2od][SET) repeatedly until DBX is shown,

Let the current DB%: be set at 200,
UWTER SET T4
DBX = 200.00

Then input life in vears by entering the key
sequence [4] (7] [ENTER].

enTER M
LIF= 7.00

Press [L][5][=][5][ENTER] to enter the starting
manth.

mNTER Tl

MOl1 = 3.50

Enter the cost by key sequence [L]]17[07[0]
[0][M[0][ENTER].

ENTER T
C5T= 100,000.00
Press [1] to aceess the salvape value SAL.
e T
SAL= (.00

Leave it at zero since no salvage value is
estimated,

EE 14
Press [+] to access the lagt data imput YR and [4]
assign ‘1" to it
[-I[1[ENTER] A
ENTER T DEP = 23,469.39
YR = 1.00 [4]
The consecutive pressings of [4] will let the L
user view the depreciation amount, remaining i
book valee and remaining deprecinble value, RBYV = 58,673.47
[~] [4]
T o,
DEF = 17,857.14 RDV = 38,673.47
=] Formulae used in Depreciation worksheed -
Let FSTYR ={13—MO1)+12in the
LI following formulae.
RBVY = 2,142 .86 LEDW = CST-SAL~accumulated depreciation
[£1 2, RBY = C3T — accumulated depreciation
3.For 5L method,
L Depreciation = { CST—SAL)+LIF
RDV = 82,142 86 First year :-{C8T-8AL )/LIF =« FSTYR

Pressing [1] agam will retuen to the display of
YR.Press [CPT) to increment YR by | and the
depreciation schedule data for the next vear can
be viewed.

[CPT]

ENTER %

YR = 2.00

35

Lasl year or more - DEP=RDY

4.For YD method :-
Depreciation={LIF+2-YR-FSTYR)={CST-5AL}
((LIF={LIF+1}3+2)
First yvear - LIFs{CST-8AL((LIF={LIF+11)+2)
= FSTYR
Last year ;- DEP = RDWV
5.For DB and DBX method -
Depreciation = RBV ={ DB%./ 100 )+ LIF
where RBV is for YR — |

For the first year ;- CST = (DB %/ 100)
+=LIF=FSTYR

EL]



unless CST x (DB % /100)+ LIFxFSTYR >
RDV;then use RDV x FSTYR

IF DEF = RDY, use DEP = RDY
Last year :- DEP = RDY

6. Statistics Worksheet
The statistical functions simplify a wide variety
of commaonly used statistical operations.
At entering of Statistical worksheet one can
choose a statistics calculation method and
compute results. The statistics methods include

O variable statistics {1-%), Power regression

(PWR), Exponential regression (EXP),

Loganthmic regression (Ln) and Standard
linear regression (LIN). Press [2nd][STAT] 1o
select the Statistics worksheet. The current
statistics method will be displaved. Say the

current method is LIN.

LaBEL Mning Type al ikem
L] Mamber of observations Avcia-toinfes
L Mean of X valoes Amio-compote
Sample stamcdand
& evistion of X Nmn-rompoe
fix Pnn:n]fu.nn ’;"'M Amn-roimpos
¥ Wezan ol ¥ values AG-cuimpae:
Sumple stosdprd
Gy deviation al ¥ Asdo-tompuie
By e P"'““]"i..m ’“d"d_.,l, Asso-numpts
g h‘-mmpﬂ on Asie-compuie
[ Lirsear rogression (slope) Aso-tomrpuls
[ Corel, e Ficiens As-toinioe
X+ Predicted X value e
YT Predicted ¥ value Erser | Compute
Ix Sum of X valuss Awfo-tompuie
Ex' S of X sqemred ey Auds-tuimpute
Iy** Sum of T values Aa-tompes
Iy = Sum of T squaned velkees Amio=Compode
Exy ** St oof XY products Amic-Lompote

Mote :- the items marked with ** are not available

SET T+

LIN

If another statistics method 15 needed, press
[2nd ][ SET] repeatedly until the display of the
desined method. Then one can press [1] to do the
computation for the following items,

w

5.Correlation coefTicient

r= (nxExy—Ex=Ev)L((n Zx'—(Ex)
x(nEy - (Zy)))

Worki le ;-
How to input x, v dats for statistics calculation
Press [2nd][24TA] to open the data worksheet,
Todally, 30 data points can be stored, At the
entering of data worksheet, X01 will be
displaved along with the previous value.
Say, X01 =355,

ENTER 4 DEL B8

X0l = 5.50

One can press [2nd][CLR FORK] to clear
the worksheet

ENTER  Ta i

X01 0.00

The following example shows bow o enter (the
five (x,y) datz points and calculate the respective

quantities.

for 1-V statistics method

Formulas used for statistical calculations :-

1. Standard deviation

Sx = ((Zx-(Zx Vi) /n)

2 Population deviation

Gy = Ex* - { Zx Yin) /n—1)

3 Mean
X=Xx/m

4.For regression formula y=a+bx

a=(Zy-bxZIx)/n

b=({nxExy-IxxIy)/ (nE-(Ex V)
Estimated values of X' and Y" are caleulated

using the formula above.

3

Press [+] w0 proceed to the entry of the respective

Tempermture!“C Leng th of the steel bar/mm
10 1003
15 s
20 1010
25 1011
30 1014
Emter X001 first. [1]J[0][ENTER]

mwTeER 1 DEL NS
=]

X0l = 10,00

m

Y-dam.
ENTER T} DEL S
=
Y01 (.00
Enter [1][0][0][3](ENTER]
ENTER Tl DEL NS
-
Y = 1,003.00
G om entering the other four data points.
[+I[1][5][ENTER]
ENTIR. T+ DELINS
X02 = 15.00
[+ STENTER]
ENTER  Ti DELINS
=1
Y02 = 1.005,00
[HIZI0)[ENTER]
ENTER %) DELING
Ll
X031 = 20,00
IO O [ENTER]
evTER i DELINS
..-:
Yo3= 1,010.00

A4



[4][2])[S]ENTER]

EvTER T4 DELINS
-

X04 = 25.00
[4101)(0](1][2][ENTER]

ENTER  To DELINS
el

Yid = 1.012.00
[4]3][0][ENTER]
ENTER. i DEL NS
=
X5 = 30,00

O] ]4][ENTER]

ENTER % DELINS
<]

Y05 = 1.014.00

At thiz morment, the wser finds that he his made
a mistake in Y.

[T7]

ENTER T4 DEL NG
-

Y4 = 1,012.00
Then press [2od][DEL] to delete the data point
(X004, Y04),

ENTER T4 DEL INE

Y04 = 0.00

41

(o an pressing [4] to check the data point (X035,
Y05,

ewTeR T4 DELINS

=
X05 = 30.00
4
ENTIR L DR TS
-
Y05 = 1, 014.00

Mote :- For One-Variable statistics method, the
dana Y is defaulted as | and it slands for
number of times the X-value occurs. One
cun enter a value to Y if the frequency
of X 18 net ‘one’.

Now, we can press [2nd][STAT] to move to the

statistical calculation portion of the Statistics

workshest. The most recenlly selectad stalistics
caleulation method is displayed. Say,1-V

15 the current method.

SET T«

-V

Press [ 2nd][SET) repeatedly 61l the statistics
caleulation method desired is displaved.

In this example, LIN is selected.

SET =
LIM
Press [4] to begin computing results.
(4]
T
n = 5.00

41

Now the original data point (X05, Y05) has been
shifted wpwards. One ean view by pressing [1].

EMTER T4 DEL NS

=]
X4 = 30.00
)
FMTER Tl DELINE
=
Y4 = 1,014.00

Move back to X4 to insert the original 4th
data point (25, 1011}

[
ENTER  Tw DEL IN%
=1
XM = 30.00
Press [2nd][INS].
ewTER T4 DEL NS
=]
X4 = 0.00
Enter the value 25
[2][SI[ENTER]
ENTER. T DELINS
=
X044 = 25.00
Then input Y04,

[H[L]0][1][1I[ENTER]

ENTER 4 DEL INE

-
Y4 = 1,01 100
2
[+]
7
X = 20,00
[+]
o
8x = 7.91
[+]
T
ox = T.07
[4]
T
¥y = 1008, 60
[+]
T4 2
8y = 4.51
[+1
T4
+
oy = 4.03
[+]
by ]
a = 907 40
[4]
Tt
b = 0.56




i+

[+

X = 0.00
Enter the value for X “and find ¥,
[1][8)[ENTER]
COMPUTE ENTER. TL
X = 18.00
[HCPT]
COMPUTE ENTER.  Th
¥' = 1,007 48
[+
T4
*
X = 100.00
[t
Te
*
= 2,250.00
[+
T4
XY= 5,043.00

a3

[+

T

Y = 5,086,451.00

[4]

T4

XY= 10100000

For Une Variable statistics method, only n,
mean of x, 5x,0%, Tx and Tx” can be viewed
through pressings of [1].

f-7.Percent Change / Compound Interest

Worksheet -

To access the Percent Change/ Compound
Imterest worksheet, press [2nd]f=%]. This
worksheet is used to find the percentage increase
or decrease between two values, or compute

a value when one value and the percent change
betwee two values are known, [ 15 also possible
to compute the compound mnterest and do
cost-sell-markup calculations.

Variables to be accessed in the worksheet

are as follows :-

Labsel heanmng ']'ypu af vanahies
OLD O valoe Enter | Compute
NEW Mew value Enler | Compaie
% CH Perceni chanpe Enter | Compate
AP Wumber of peniods | Enter / Compuate
Casze 1 — For ent ¢ calculations

Formula :- NEW =0LD = { 1+CH%/ 100 )
{mote c-sct#PD=1)
Working example :-
Determine the percentage change from o forecast
amount of S658 o an actual amount of $7040,

a8

Then determine what the new amount would

be if it were 7% below the original forecast.
Press [2nd ]k %] to enter the worksheet, The
current value of "OLD" will be shown, One can
press [2nd][CLR WORK] to clear OLD, NEW
and %CH to zero and set #PD at 1,

COMPUTE ENTER T4

OLD = 0.00

Enter the value 658 by key sequence [6][5][8]
[ENTER]

COMPUTE ENTER T4

OLD = 6:58.00

Enter the NEW value 700
[HITIO)[O][ENTER]

COMPUTT ENTER T
NEW = T00.00
Compute the percent change by keying [L][CPT]

COMPUTE INTER T
YCH = 6.38

Enter -7 as the percent change by keving [7][%]
[ENTER].

COMPUTHE ENTER. T
S CH = - 7.00
Step back o the page with KEW shown then
press [CPT],

[THCPT]

COMPUTE ENTER T4

*
NEW = 611.94
Case 2 ;- For interest caleulation
Formmula - NEW = OLD = { 1+ CH% /100 )
Working example :-

Some stock was purchased for $ 500 in 1985,
And 1t was sold [or 3750 five years later, What
was the annual growth rate 7

Press [2nd][«1 %) to enter the worksheet The
current value of *OLD will be shown One can
press [2nd)[CLE WORK] to clear OLD, NEW
and $CH 1o zero and set #PDan 1.

COMPUTE ENTER T4

OLD= 0.00

Enter the value 500 by key sequence [5][0][(0])
[ENTER]

P

COMPLTE ENTER TL

OLD = 00,00

Then enter the NEW valoe and the number of
YRS,

[+] [71 [5][0] [ENTER]

COMPUTE ENTER. TL
NEW = T50.00
[+][4][5][ENTER]

COMPUTE ENTER T4

#PD = 5.00

iR



Move one step backward to caloulate the annual
growlh rate.

[TIICPT]

COMPUTE ENTER T4
%CH = 8.45

Case 3 ;- For cost-sell-markup caloulation
Formula :- NEW =0LD = {1+ %CH / 100)
The operating procedure is the sume as Case 1.
#PD value should be kept at 1.

f-8. Interest Conversion Worksheet ;-
Press [2od][F CONF] to access the Interest
Conversion worksheet. This worksheet is usefil
for converting between nominal interest rate

(NWOM) and annual effective interest rate (EFF).

Varahles available in the worksheet ;-

Labsel Meaning Type of variahle
N0 Mominal rafe Eister | Cotnpulé
EFF Amnual effective mte |Enter [ Compuie
oy Compounding periods /[ Enger.only

Formula used :

H EFF%=(1+ NOM/ ¢y % )57
Working example ;-

A bank is offering a certificate that pays a
nominal imtercst rate of 15% with quarterly
compounding. What is the annual effective
interest rate 7

Ome can press [2nd][f CONV] to enter the
waorksheet, Then he/she can reset the values

of NOM and EFF by keying [2nd][CLE WORK].

COMPUTE ENTER T4

NOM = 0.00

a4

Press [2%Y[Date] to select the Dute worksheet,

One can press [2*)[CLR WORK) to clear the
worksheet. DT1 and DT2 will be restored to Dec
31, 19490 and DBD reset to zeTo.

CUMPUTE ENTER T

DTI=12-31-90
Enter the first date as Jan 4, 1990 by the key
sequence [L][«]I0[4][9][0ENTER].

COMFLUTE ENTER. T4

DTl=1-04-%90

Then enter the second date by a series of key
pressing[L][3][«[O[1 ][9] [0][ENTER]

COMPUTE ENTER. T4+

DT2=3-01-90

Press [+] twice o check the day-count method, IT
the current selection 15 200360 day- count

method, the display will be

=T TE

360
2™ [SET] to switch to ACT day-count

i

SET T4

ACT

Then go back to the DBD page and do the
computation, For this example, the calculation
will base on the actual days of each month in the
period. 1f 307360 is selected, the calculator will
count 30 days for each month.

|

Enter the nominal rate 15% by keyving m [1][5]
[ENTER]

COMPLUTE ENTER. T4
NOM = 15.00

Enter the number of compounding pertods per
year.
[HEF4ENTER]

EMTER T
CY= 4.00

Then restore the display of EFF and press [CPT].
[TIICPT]

COMPUTE ENTER TL .
EFF = 15.87

-8, Date Worksheet
Press [2*[Dare] 1o access the Date Worksheet.
This worksheet can be used to find the number
of days between two dates.
The following variable can be accessed in the
worksheet.

Label Memming Typo af verizhle
0Tl Diate 1 Tvier / Compeie
[EiF] [ane 3 Terier | Comparie
DED Diays hetween dates Emvier [ Compaie
AT, ar d“""f""”"‘mﬂ " Sesting
L] T3S0 day-coant methed| Setling

Waorking example

A loan is made on January 4, 1990, but the first
payment is deferred until March 1,1990, How
many days dees the loan acerue mterest before

the first payment 7

50

COMPUTE EXTER T4

DRI = 56.00

-1, Profit Marpin Workshest
To aceess the Profilt Margin worksheet, press
|29 Prafis]. This workshest is for solving cost,
selling price or profit margin, The uscr can cnter
valies for aty two variables and compute the
value for the third variable.

Vanables to be accessed in this worksheet -

Label Meaning Type of varmsable
CHET Cast Enler | Compate
SEL Selling price Futer | Compise
MAR PFrofit margm Enter Compuze
Formula used in this worksheet -
Profit margin MAR ={SEL—CST }/SEL= 100%
Working example

The selling price of an item is $125. The gross
profit margin is 20%. Find the original cost.
Press [2%][Prafif] to sclect Profit Margin

worksheet, The current '-'3.11.5 fior CST will be
displayed. Ome can press [27 ][ CLE WORK] w
clear the worksheet. All the vanables such as CST,

MAR and SEL will be reset to zero.
COMPUTE ENTER. T4
CET= 10, (0

Gio on cntering the value for SEL and MAR.
[HI[]2][5][ENTER]

COMPUTE ENTER. T

SEL = 125.00

52



[+][2][0](ENTER|

COMPUTE ENTER 1L

MAR = 20,00

Finally, move back to the beginning of the
worksheel o compule the cost.
[FIITICPT]

COMPUTE ENTER 4
100.00

CsT=

[=11, Breakeven worksheet
Press [2][Brkevn] to select the Rreakeven

waorksheet, This worksheet is used for finding
the breakeven point and sales level necessary to
earn a given level of profit. Below are variahles

to be accessed in this worksheet -
Label Measisg Tyge of variable
FC Fiued oost Enter | Compate
¥ ‘Warable cost per unit Emier | Compate
F Lot price [Emier { Compata
FFI Fraflt Ermer | Compraie
[¥] [FTreTy Enter | Compaie

Working example -

A canoe company sells paddles for 20 each.
The unit variable cost is $15, and the fixed costs
are 53000, How many paddles must be sold to
break even?

Press [2][Brievn] to select the Breakeven
worksheet. The current value for FC will be

displaved. One can press [2“"][C‘LR WORK] to
clear the worksheet That is to reset all variables
FC,VC, P, PFT and () to #ero.

COMPUTE ENTER T

FC = 0.00

33

Assign the value 3000 1o FC.
[3M0][0][0][ENTER]

COMPUTE ENTER T
FC = 3,000.00

Press [] to move to the next variable ¥C and
enter 15.

COMPUTE ENTER T2

VC = 15.00
Enter the price as well.
[=I2][ENTER]
COMPUTE ENTER T4
P = 20,00

Further pressing of [+] will show the page for
profit P.For breakeven condition, PFT should
be set at zero,

COMPUTE ENTER T4

PFT = 0.00

Finally, it comes to the last variable which is to
be computed.

[-]ICrT]

COMPUTE ENTER T4

Q = G00.00

f-12. Memory Worksheet
Memory worksheet pives fhe user visual access
to all the calculator's ten constant memories. It
provides &n easy way 10 eXecule memory sloring
and recall, All the vanzhles to be accessed in
this worksheet are those ten memaries. There are
44

no formulas, no settings and no value to compute.

Lahel Meaning Type of varlable
Ml Meinory 0 Enler-anly
Ml Memary 1 Enter-anly
M2 Memory 2 Enter-anly
M3 Memary 3 Enler-anly
M4 Memaory & Enter-anly
35 Memary 5 Emter-anly
B Memory & Lnter-only
M7 Memaory 7 Enter-anly
e Memory B Enter-only
Mo Memory 8 Lnter-anly

To select the Memory worksheet, one should
press [2)[ MEM). To clear all of the memorics
at ance, simply press [2"[CLE WORK] o clear
the worksheet. As the worksheet has been
selected, the Memory 0 will be displayed. The
user can store a value 1o it by keying in the
number fiollowed l? key [EMTER]. Repeated
pressing of [+] or [T] will show the memories
one by one. Besides storing & number directly fo
the memory shown on the display, the user can
execute Memory Plus, Memory Minus, Memory
Times and Memory Divide Rimctions by key
sequence of [operator key], the nunber, then
[ENTER] key.

For example, o add 85 to the memaory 9,

First locate the memory @ by the use of [7] or [4].
Then key in [][@][SITENTER] to add 95 w the
content of memory 9.

V. Error conditions -

The calculator reports error conditions by
displaying the message Error n, where n is the
number of the error, During error condition, the
user has to enter [CEC] o reset the error.

Below is the description of each error condition.
Ermor |- Overflow ermor

Possible couses - e

- Attempted calculation whose regult is outside
the range of the caleulator, i.e. absoluie
valug > 1 % 10%

- Attempted 1o divide by zero,

Error 2 ;- Invalid Arpument

Possible causes --

= Attempted to calculate x! when x 15 not an
inmteger from zero through &9,

- Attempted to calculate LM of x when x < 0

- Attempted to calculate ¥* when v < 0 and x is
net an integer of the nverse of an infeger

- Attempted 1o calculate vx when x s < 0.

- In Amortization worksheet, attempied to
compute BAL, PRN, and INT when P2 < P1,

- In Depreciation worksheet, atterpled o
calculation when SAL > C5T.

ri:- T ndin

Possible causes :-

- Attempted to use more than 15 active levels of
parentheses,

- Attemnpted to use more than 8 pending
Gperations.

Error 4 :- (Ot of range

Possible causes --

- Im Amortization worksheet, attempted to enter
a value for P1 or P2 that is outside the range
1-9994,

- I TV M worksheet, attempted to enter a value
for PYY or O7Y thatis =0,

- In Cash Flow worksheet, ted to enter &
value for Fon (freguency) that 1s oulside the
range | - 9999,

- In Bond worksheet, attempted to enter & value
for BV or CPM that is less than zero.

- In Bond worksheet, attemnpted to enter a valuwe
for PRI = 0.
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- In Date worksheet, attempted to compute a
date that is cutside the range Jan. 1, 1950
through Dec, 31, 2049,

- In Depreciation worksheet, attempted to enter
a value for declining balance percent =0, for
LIF< 0, for CST< 0, for SAL< 0, for YR <0,
or MO1 < 1 or MO1 = 13,

- In Interest Conversion worksheet, attempted

to enter a value for CY = 0.

- After pressing | 2nd][#ormar], attempted o
enter a value for DEC that is outside the range
0-9

E . i sl .

Passible canses -

-In TWM worksheet, attempted to compute 1Y
when FV, (NxPMT) and FV all have the
SR S1E0.

-In Cash Flow worksheet, attempted to compute
[RR without at least one sign change in the
cash flow list

Error 6 :- Invalid date

Pussible causes -

-In Bond or Date worksheets, attempted to enter
an mvalid date

-In Bond or Date worksheets, attempied to enter
a date not matching the format selected,

-In Bend worksheet, attempted a caleulation
when the redemption date is earlier than or the
same as the settlement date.

Passible canses --

=In TVM worksheet, attemnpted to compute 1Y
for a very complex problem involving many
itcrations.

-In Cash Flow worksheet, attempted 1o
compute [RR fora Cg:lz‘l‘pll:! problem with

(3! Remove the old battery. =
@ Wipe off the sides of new
battery with a dry,soil
cloth.Load it into the wnit
with the positive @side
facing up{so you can see it).
(@ Replace the battery cover
and secure itin place with
the screw, | |
(3 Presa[(JN|on turn power on,

* Auta power off
Calculator power automatically turns off if you
do not perform any operation for about six
minutes. When this happens,press 0N to power
back on,

multiple sign changes,
- In Bond worksheet, attempted to compute
YLD for a very complex problem.

E - ed i i ion
- During iterative caleulation, press [ON/OFF]
to stop the itcration process,
Thost iteration process include :-
* evaluation of I'Y in TWM worksheet
*evaluation of BAL or INT in Amortization
warksheel
*evaluation of IRR in Cash Flow worksheet
* evaluation of YLD m Bond worksheet
* Replacing the battery
Either of the following symptoms indicates
battery power is low,and that the battery
should be replaced.
* Display figures are dim snd difficolt o read
i areas where there as little light avmlable
» Mothing appears on the display when you
press the [ON] key.

This calculator is powered by Agl3 Tyvpe
{LR 44x2)bution battery.

* Replacing the battery
Dim figure on the display of the calculator
indicate that battery power is low. Continoed
use of the caloulator when the battery power
15 low can result in improper operation.
Replace the battery as soon as possible when
diaplay figures become dim,
* To replace the battery
(D) PressEHiFT pFA to turn aff power,
(2 Remove the screw that holds the battery
gover in place and then remove the
battery cover.
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